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-LPG JtAHI 40,0008 * 9= 360
Od 7 & MASI Al&EH SA22 16,800
- 2R 700,000 = 12& 8,400
— 24 AFCEX 700,000& = 12& 8,400
O=2&doA RANES 15,000
OXAHILA L =5 FANES 10,000
202 04| 10,700 7,080 3,620
01 2LH 4 HI 10,700 7,080 3,620
OZ X Mab & THE 22l Arg =& 10,700
206 M = Hl 45,000 65,000 A 20,000
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01 M= 4l 45,000 65,000 A20,000
OMNZX &t & =& &S S LY
1,000,000& * 138 1,000
OMZ A Mo 2 X&E S g
220,000& » 100& 22,000
OMZ Xt HSTHEH 2 A 7,500,000& * 2ha 15,000
OAHTHHEY BHE X AZX 7,000& = 1,0000H 7,000
207 & O &l 38,000 43,000 A5,000
03 Al & 11 HI 38,000 43,000 A5,000
OXXHLA 2 W= 10,000
OZadoteAs 28 ME 15,000
OEst&E ANEZE 28 M= 8,000
OLHTHHHAIE 2 W& 5,000
301 LerEAF 1,600 1,600 0
09 #HALAHIXI &3 1,600 1,600 0
OMNZX MHE=IHWE EFIt B4
8,000& = 409 * 53 1,600
401 AIEHI L 20HYI 72,000 80,000 A8,000
01 A& HI 72,000 80,000 A 8,000
O22ABLA W2AI| 0|8 U 42 B
22,000,000& = 14 22,000
OZ2Eot2A XZAE wiH
25,000,000& » 14 25,000
Osgada2s 3 SA 11,000,000 * 14! 11,000
OMZ R MACER AIRA el22E
14,000,000& * 14 14,000
402 2I2H X201 M 42,000 42,000 0
01 2I2F 2 A B (RERTH ) 42,000 42,000 0
OMZX MBE HE L =%
4,000,000& * 21ha * 50/100 42,000
405 XtatE SHI 22,000 27,600 25,600
01 AR ESFH S 22,000 27,600 A5,600
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O&J 28X +¢ 11,000,000& * 1CH 11,000
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OZ=3%E MEZ SEUHA £X
15,000,000& * 1JH 2 15,000
402 2I2H X201 M 80,316 9,000 71,316
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SIS dH

U UHSAAH (SYIISHEH)
o2 J2ddl(sgllsdd) ?HA)
SH-HH . B(SH) - HBAMY - B2 o AF o il 2
Jl2dH(sglI=4dH) 94,355 82,507 11,848
Jl2ddl(sgll=dH) 94,355 82,507 11,848
201 LEr2 Y| 70,057 63,619 6,438
01 At 22l Yl 60,457 54,019 6,438
Oovlg 2s&2 2,952
-SAMZ 15,000& * 38 * 12& 540
-Xgal 2 15,000& = 122 = 128 2,160
NS PE 7,000& * 38 * 128 252
O A 60,000& » 28 » 1152 13,800
OJl2+8gtl 21,414
(OPIE=T=2=3:] 22,291
02 35244l 9,600 9,600 0
ONg22 400,000& = 12& 4,800
oRER2 400,000 = 12& 4,800
202 O B 12,288 8,508 3,780
01 2L Y| 12,288 8,508 3,780
SgI|l=4dH JIS2gERFA 9,288
-sgJl=HH 3,456
-Jls XS 2,916
-AREZ 0 2,916
OsgllsdE 2ASH 3,000
203 ¥ R =&H| 12,010 10,380 1,630
01 J|22H L RF=AH| 4,000 3,000 1,000
OsglIsdHAH J2A2FYRFA 4,000
02 HRJAHE R =&Y 2,124 1,872 252
O&E A& A ZBH|
40,000€ * 59 = 90/100 2,124
04 ENSIHRF=AY| 5,886 5,508 378
OsgllsdEe BEASIILIFA
545,000& = 12€ = 90/100 5,886




